Unit 4: Why Do You Do Accounting Anyway?

Activity 3: Accounting for Banking and Cash Management

Bank Reconciliation
1. What is bank reconciliation?

2. When the bank's records differ from the company's banking records, there are certain reasons that the differences occur.  List and describe each.
a. ________________________________________
i. An outstanding deposit is a deposit which is generally made at the end of the month in the company's records, but did not get processed at the bank on the same day.
b. ___________________________________________________

i. An outstanding cheque is a cheque recorded on the company's records, but not yet processed by the bank.
c.  _________________________________________
d. __________________________________________
e. ___________________________________________
i. NSF means Not Sufficient Funds. An NSF cheque is often issued to a customer when the bank could not cash the cheque because the customer does not have enough money in the account to cover the cheque.
Example 

In the example below, you can see what the bank ___________________ statement is compared to the __________  __________ balance and the _____________________    _______  balance. The person completing the bank reconciliation goes through the process of finding out why the two balances do not _____________. They _______ or ____________ items that might be found on one but not on the other, to try to determine the ___________ __________ balance. Bank reconciliations should be completed at the end of each ________________. 
Fill in the blanks:
	Bank’s Record

		_____________ Record

	
	Balance as per

________Statement

	$ 4 590.23
	Balance as per Ledger

	$ ___________

	Add:

		Add:
	
	Late _________
	489.78

		
	Deduct:

		Deduct:
	
	Outstanding cheques

		Bank ________Charges
	32.00

	Chq#226

	392.69

		
	True (Adjusted) Balance

	$ ____________
	True (Adjusted) Balance

	$ 4 687.32



	
	

	
	

	
	


Steps in Reconciling a Bank Account:
List and describe the 6 steps in bank reconciliation:

Step 1:  

Step 2:

Step 3:

Step 4:   

Step 5:   

Step 6:  
